Errata Sheet for Introduction to Management Science, 8th Edition, Taylor

Solutions Manual Corrections:

Chapter 1, page 2, problem 21 – the formula for volume should be 

v = (60,000 + 8,000)/(400 – 75), and thus v = 209.2 teams, instead of v = 160 teams.

Chapter 1, page 4, Case Solution: Constructing a Parking Lot in Draper – under (a), the first value in the formula for the annual capital recovery payment should be $4,500,000 instead of $4,500.

Chapter 2, page 14, problem 50 – in part (a), the second constraint should be x2/(x1 + x2) instead of x1/(x1 + x2)

Chapter 4, page 50, problem 40 – the first constraint in the model formulation should be x1 + y1 
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 470, instead of 
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 820.  The correct solution is x1 = 470, x2 = 557, x3 = 103, x4 = 539, x5 = 454, x6 = 261, y1 = 0, y2 = 743, y3 = 137, y4 = 281, y5 = 606, y6 = 349, Z = $61,119,000.

Chapter 4, page 55, problem 59 – the correct solution is xA3 = 400, xA4 = 50, xB4 = 250, xB5 = 350, xC4 = 175, xC7 = 274.1, xC8 = 50.93, xD2 = 131.7, xD7 = 15.93, xE1 = 208.33, xE8 = 149.07, xF1 = 291.67, xF2 = 108.3, xF6 = 460; Z = 12,853.33.

Chapter 4, page 56, problem 63 – in the model formulation the first 3 constraints should be 
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 1 as well as 
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 2. The fourth constraint should be x4l + x4j 
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 2, instead of 
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 1 and the fifth constraint should be x5j = 1.  The sixth, seventh, eight, and ninth constraints should be 
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 1 and 
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 2 instead of  = 1, and the tenth, eleventh and twelfth constraints should all be 
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 2 instead of 
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 1. The thirteenth through the twentieth constraints should all be  
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 1and  
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 2 instead of = 1. The twenty first through the twenty third constraints should all be 
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 1 instead of = 1. In addition there should be ten additional constraints as follows: xA4 + xB4 + xC4 + xD4 
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 1, xA5 + xB5 + xC5 + xD5 + xE5  
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 1, xA6 + xB6 + xC6 + xD6 + xE6 + xF6 + xG6 
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 1, xA7 + xB7 + xC7 + xD7 + xE7 + xF7 + xG7 
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 1, x1E + x2E 
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 1, x1F + x2F + x3F 
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 1, x1G + x2G + x3G 
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 1, x1H + x2H + x3H 
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 1, x1I + x2I + x3I + x4I 
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 1, x1J + x2J + x3J + x4J + x5J 
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 1.  The correct solution is 1 – D (1 hr), 2 – E (1 hr), 3 - F (2 hr), 3 – H (6 hr), 4 – I (1 hr), 5 – J (1 hr), A – 5 (8 hr), B – 4 (5 hr), C – 6 (8 hr) and G – 7 (2 hr); Z = 35 hours ground time.  6 crews originate in Pittsburgh and 4 in Orlando.  One crew ferries on flight 3 from Pittsburgh and flies H back from Orlando.  One crew flies A from Orlando and then flies 5 back to Orlando while a crew ferries on flight 5 to Orlando and then flies J back to Pittsburgh.   A crew flies B from Orlando and flies 4 back to Orlando while a crew ferries on flight 4 and flies I back to Pittsburgh.  There are multiple optimal solutions.    

Chapter 5, page 62, problem 20 – in the objective function, the coefficient of x2C should be 70 instead of 7. 

Chapter 5, page 65, problem 34 (a) – the second constraint in the model formulation for “Roadside” should be 100(x1B + x3B + x7B + x10B) + 18x2B + 12x4B + 17x5B + 10x6B + 18x8B + 20x9B + 20x11B + 14x12B 
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 26.  The correct solution should be Z = 12 (and there are multiple optimal solutions).

Chapter 5, page 65, problem 34 (a) – add the following constraint, 
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Chapter 5, page 65, problem 34 (b) – the objective function should be “Minimize.”

Chapter 7, page 99, problem 15 – in the network figure at the bottom of the page the branch/arc from node 1 to node 7 should have a value of 101 instead of 98.5.

Chapter 7, page 110, problem 35 – the solution value for x57 should be 3 instead of 10.

Chapter 7, page 113, Case Solution for Nuclear Waste Disposal at PAWV Power and Light – the correct solution is (1) Pittsburgh – (2) Columbus – (7) Cincinnati –  (11) Indianapolis - (16) Davenport/Moline/Rock Island – (19) Des Moines - (23) Omaha – (28) Cheyenne – (31) Salt Lake City – (33) Nevada site; Z = 8.23 million (total population), total time  = 41.7 hours.

Chapter 12, page 191, Case Solution for Evaluating R&D Projects at WestCom Systems Products Company – Project 4 has an expected value of $329,725 instead of $559,725.  

Chapter 13, page 201, problem 50 - the last line of this solution should be P(place an order) = 1 – Pm = .6765, instead of Pm = .6765. 

Text Corrections:

Chapter 5, page 210, Case Problem for Scheduling Television Advertising Slots at the United Broadcast Network – in the table for weighting factors at the bottom of page 210, under the “October” heading the weeks should be 3 and 4, instead of 1 and 2. 

Chapter 9, page 409, problem 38 – in the pairwise comparison matrix for “Grading”, the value at the intersection of row “3” and column “1” should be 8 instead of 1/8.

Chapter 12, page 536, Case problem for Evaluating R&D Projects at WestCom Systems Products Company – the last line of the table for “Delay – failure” should have all negative values, i.e., -1,300,000; -4,000,000; -800,000; -1,100,000 and –900,000., instead of positive values   

Chapter 13, page 573, problem 51 – in the second line the number “10” should be inserted before “. . .   scholarship student athletes, so that the sentence should read “Judith Lewis is a doctoral student at State University and she also works full-time as an academic advisor for 10 scholarshiped athletes.” 
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